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2018年東大理□1  

 𝑓′(𝑥) =
sin 𝑥 − 𝑥 cos 𝑥

sin2 𝑥
− sin 𝑥 =

sin 𝑥 − sin3 𝑥 − 𝑥 cos 𝑥

sin2 𝑥
=

sin 𝑥 (1 − sin2 𝑥) − 𝑥 cos 𝑥

sin2 𝑥
 

    =
sin 𝑥 cos2 𝑥 − 𝑥 cos 𝑥

sin2 𝑥
=

cos 𝑥 (sin 𝑥 cos 𝑥 − 𝑥)

sin2 𝑥
=

cos 𝑥 (sin 2𝑥 − 2𝑥)

2 sin2 𝑥
 

 

𝑔(𝑥) = sin 2𝑥 − 2𝑥とすると 𝑔′(𝑥) = 2(cos 2𝑥 − 1) 0 < 2𝑥 < 2𝜋より 𝑔′(𝑥) < 0 

𝑔(𝑥)は 0 < 𝑥 < 𝜋において単調減少であるから、𝑔(0) = 0 より、𝑔(0) < 0 である。 

 

したがって、𝑓(𝑥)の増減は右の通り。 

 

lim
𝑥→+0

sin 𝑥

𝑥
= 1 より ∴ lim

𝑥→+0
𝑓(𝑥) = 2 ⋯ ⋯ (答) 

lim
𝑥→𝜋−0

𝑥

sin 𝑥
= +∞より ∴ lim

𝑥→𝜋−0
𝑓(𝑥) = +∞ ⋯ ⋯ (答) 

 


